

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

### Request for Quotation

SH-p

6611C017

PA	3E
	1

ADDRESS CORRESPONDENCE TO ATTENTION

BUYER 33 304-558-2402

VENDOR

\*917093307 502-583-6591 ISCO INDUSTRIES INC PO BOX 4545

LOUISVILLE KY 40204

DIVISION OF HIGHWAYS
VARIOUS LOCALES AS INDICATED
BY ORDER

DATE PRIN		TEF	RMS OF SAI	Æ	SHIP	/IA	F	ОВ		FREIGHT TERMS
03/31/ BID OPENING DATE										
BID OPENING DATE		04/14/	2011	langa an sabbabbab	100000000000000000000000000000000000000	BID	OPENING	TIME	01	:30PM
LINE	QUA	ANTITY	UOP	CAT. NO:	ITEM NUI	VIBER.	UNF	TPRICE		AMOUNT
0001		1	LS		135-40					
	GROUT	INSTAL	LATIO	N			at the second			
•										
					FOR QUOT (RFQ)					
				;	END CONTR					
	AGENCY	Y, THE	WEST	VIRGI	E PURCHAS NIA DIVIS	ION OF	HIGHWAYS	, IS		at acceptance of the second se
	ALL LA	ABOR, M	ATERI	AL AN	OPEN END D EQUIPME	NT TO I	NSTALL G	ROUT		
	IN THE	EANNUL	AR SP	ACE B	ETWEEN TH	E LINER	AND EXI	STING		
	WORK I	IS TO B	E PER ALL 5	FORME 5 COU	D ON VARI NTIES.	ous div	ISION OF	HIGHW	AYS	repair (fely 1990) Political Parameter
			÷							
	EXHIBI	T 10								
					REQUI	SITION	NO.:	• • • • •	•••	
	ADDEND	DUM ACK	NOWLE	DGEME	NT			4.5 · 4		and the foreign for the first of the first o
	I HERE	BY ACK	NOWLE	DGE R	ECEIPT OF ADE THE N	THE FO	LLOWING	CHECKE	D	
	MY PRO	POSAL,	PLAN	S AND	OR SPECI	FICATIO	N, ETC.	UNS IU	eye 6.No	I AM 13 A 10:05
: *	ADDEND	ои мо.	'S:						es. •	VISION
				SEE REV	ERSE SIDE FOR TE				1	A CARL DAWY
SIGNATURE	u.	Kan	n	·/			2-318-6	132 P	ATE	1/12/11
TITLE Divecto	) r	FE	_/\0		60015	7	ADD	RESS CHAN		O BE NOTED ABOVE
·WHI	EN RESP	ONDING T	O RFQ,	<b>INSER</b>	NAME AND	ADDRESS I	N SPACE AE	BOVE LAP	FIF	) 'VENDOR'

### GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.

3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division

and have paid the required \$125 fee.

- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.htm and is hereby made part of the agreement. Provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

#### **INSTRUCTIONS TO BIDDERS**

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as **EQUAL** to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.

3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.

- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

### Request for Quotation

န H P

AUUH	ESS CORRESPONDE	NCE TO ATTENTION OF	
BUYER 3	3		

304-558-2402

**\*917093307** 502-583-6591 ISCO INDUSTRIES INC PO BOX 4545 LOUISVILLE KY 40204

DIVISION OF HIGHWAYS VARIOUS LOCALES AS INDICATED BY ORDER

DATE PRIN	TED	TER	MS OF SAL	É	SHIP VI	Α	F.O.B.	FREIGHT TERMS
03/31/								
BID OPENING DATE:		04/14/	2011	en renerous rousek		BID	OPENING TIME 01	:30PM
LINE	QUA	NTITY	UOP	CAT. NO	ITEM NUM	BER	UNITPRICE	AMOUNT
	NO. I							
		• • • • • •	• •					
	NO. 2					•		
					,			
	NO. 3		* *					
				,				
	NO. 4	• • • • •	• •					
	NO. 5				•			
			• •					
	I UNDE	RSTAND	THAT	FAIL	URE TO COI	FIRM T	HE RECEIPT OF	
							TION OF BIDS.	
					DERSTAND T			
							ADE DURING ANY	
	OKAL D	120022	E DEB	ELD B	EIWEEN VER L IS NOT I	YDUR'S	REPRESENTATIVES	
					L 15 NOT 1 WRITING A			
					FFICIAL A			
	00		2.		, , rothe Ar		15 DINDING.	
					. (		- ///	l
	,					· Lu:	Xam July	
			,		<i>\(\frac{1}{2}\)</i>	SI	GNATURE 0	
	i				TSC	o Ind	uchijoc	
					7.7.19			
						4/ /	MPANY	
						4/12	111.	
						DA	TE	
				UM AC	KNOWLEDGEN	MENT SH	OULD BE SUBMITTED	
	WITH T	HE BID	•					
	REV. O	9/21/2	nno				•	
	K E V + U	· · · ·	UU7					
				SEERE	ÆRSE SIDE FOR TE			I.
SIGNATURE	-, X	an de	2		7	ELEPHONE JO	2-318-6632 DATE	4/12-/11
TITLE DIVE CH	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	<b>E</b>	IN .	61-	060015			TO BE NOTED ABOVE



VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

### Request for Quotation

T O

6611C017

BUYER 33

ADDRESS CORRESPONDENCE TO ATTENTION OF 304-558-2402

**\*917093307** 502-583-6591 ISCO INDUSTRIES INC PO BOX 4545

LOUISVILLE KY 40204

DIVISION OF HIGHWAYS 8 H -P VARIOUS LOCALES AS INDICATED BY ORDER

DATE PRIN	red	TEA	MS OF SAI	£	SHIP VI	A		F(	<b>3</b> .B		FREIGHT TERMS
03/31/	2011										
BID OPENING DATE:		04/14/	2011			BID	OPEN	IING	TIME	01	:30PM
LINE	QUA	ANTITY	UOP	CAT NO	ITEM NUM	BEA		UNI	TPRICE		AMOUNT
					,						
	EXHIB	IT 1									
	1		1		S CONTRAC		1				
			[	Į.	FOR A PEI		l				
			1	i .	ASONABLE		t .				
			4	1	A NEW CO		3				
			1	1 -	E "REASON. MONTHS.	DURING	1			- 1	
					ERMINATE		1			1	
					DIRECTOR						
		EN NOTI									,
		e encer	F T C D	DOUTO	TONC ADD	ettema	TED	FICE	LUCDE	TAI	
			1	1	IONS ARE S		ı				
	r .		1	1	ICAL SUBD		1				
					SET FORT						
	1	IFE OF	F .	L						•	,
							L				
			4	1	MAY BE R		1			AL	
,			1	1	SPENDING TOR OF PU		1				
i .	5		1	1	RATION DA		1		MAL SH		
			1	1	THE TERMS		1				
					SHALL BE						
			•	F	R PERIODS						
		-									
		LLATION			ECTOR OF						
					ONTRACT I						
					F THE COM ERIOR QUA						
					S OF THE						
	7 1 1 1 1	11112 31 2				<i>D</i> 10 1110			J. 1121		
	OPEN	MARKET	CLAUS	E: TH	E DIRECTO	R OF PU	RCH	ASIN	S MAY		
	AUTHO	RIZE A	SPENI	ING U	NIT TO PU	RCHASE	ОИ	THE (	DPEN		
			l	SEERE	L VERSE SIDE FOR TI						1
SIGNATURE STU	, /	an su	2			TELEPHONE 50	2-3	318-	6632	DATE	4/12/11
TITLE Direc	for		EINI	1-0	60015%	_				IANGES	TO BE NOTED ABOVE



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

> SH-P P TO

6611C017

PAGE 4

BUYER 33 .
304-558-2402

V ENDOR

\*917093307 502-583-6591 ISCO INDUSTRIES INC PO BOX 4545

LOUISVILLE KY 40204

DIVISION OF HIGHWAYS
VARIOUS LOCALES AS INDICATED
BY ORDER

DATE PRIN	TED	TER	MS OF SAL	E	SHIP VIA	FOB.	FREIGHT TERMS
03/31/	2011						
BID OPENING DATE:	: [	04/14/	2011		BID	OPENING TIME 0	1:30PM
LINE	QUAN	ITITY	UOP	CAT	ITEM NUMBER	UNITPRICE	AMOUNT
				NO.	ind with a label	OWI PRICE	AMOUN:
	MARKET	. WITH	оит т	HE EI	LING OF A REQUIS	TTION OR COST	
					IED ON THIS CONT		
					EMERGENCIES DUE		
•					NOT LIMITED TO D		•
					NANTICIPATED INC		
	VOLUME			AN U	NANTICIFATED INC	KEASE IN THE	· ·
	VOLUME	UI MU	KK).				
	TNCHDAI	NICE. C	UCCES	CEIII	VENDOR SHALL FUR	NICH BROKE OF	
					GENERAL LIABILI		1
						LESS OTHERWISE	
					OCUMENTS, THE MI		
1	INSUKAI	NCE CU	VERAG	E KEU	UIRED IS \$250,00	υ.	·
	HODKED		DENGA	TTON	HENDOD TO DEGUT		
						RED TO PROVIDE A	
	CERIIF.	ICAIE	FKUM	WUKKE	R'S COMPENSATION	IF SUCCESSFUL.	
							İ
					ENT THE VENDOR/C		
	FUR BAI	NKRUPI	CY PR	OTECT	ION, THIS CONTRA	CT IS AUTOMATI-	
		NULL A	ND VO	ID, A	ND IS TERMINATED	WITHOUT FURTHER	
	ORDER.						
	L						
	REV. 9	/98					-
						OF WEST VIRGINI	
						ARD PROGRAM WHIC	H
	IS ISS						
	MUST A	CCEPT	THE S	TATE	OF WEST VIRGINIA	VISA PURCHASING	· .
					L ORDERS PLACED	BY ANY STATE	
	AGENCY	AS A	CONDI	TION	OF AWARD.		
				•			
			ŀ				
							]
	EXHIBI <sup>-</sup>	Г 4				•	
				1			
	LOCAL (	SOVERN	MENT	BODIE	S: UNLESS THE	VENDOR INDICATES	·
			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	700 B B B B B B B B B B B B B B B B B B			
SIGNATURE /				SEE RE	/ERSE SIDE FOR TERMS AND CON		
	121	Kan	2	cs/	SO SO	2-318-6632 DATE	4/12/11
TITLE /) ?	Lone	FE	tn 4	1,			S TO BE NOTED ABOVE
Direc	TOY			61	-0600157	ADDITEGO OTANGE	O TO DE NOTED ABOVE



VENDOR

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston WY 25205 0420 Charleston, WV 25305-0130

al-b

Ţ Ö

RFQ NUMBER 6611C017

21000	PA	ĢE
		_

BUYER 33

304-558-2402

\*917093307 502-583-6591 ISCO INDUSTRIES INC PO BOX 4545

LOUISVILLE KY 40204 DIVISION OF HIGHWAYS VARIOUS LOCALES AS INDICATED BY ORDER

DATE PRIN	TED	TER	MS OF SAL	E	SHIPV	A	FO	8.	FREIGHTTERMS
03/31/									
BID OPENING DATE:		04/14/		CAT		BID	OPENING T		:30PM
LINE	QUA	NTITY	UOP	NO	ITEM NUM	IBER	UNIT	PRICE	AMOUNT
	AND CO AND OT TO POL VIRGIN PRICES POLITI CLEARL	NDITIO HER LO ITICAL IA. I , TERM CAL SU Y INDI NOT PR	NS OF CAL G SUBD F THE S, AN BDIVI CATE	THE OVERN IVISI VEND D CON SIONS SUCH	TO EXTEN BID TO CO MENT BODI ONS OF TH OR DOES N DITIONS O OF THE S REFUSAL I E AWARD O	UNTY, S ES, THE E STATE OT WISH F THE B TATE, T N HIS B	CHOOL, MU BID SHALE OF WEST TO EXTEN ID TO ALL HE VENDOR ID. SUCH	INICIPAL L EXTEND ND THE R MUST I REFUSAL	
	REV. 3	/88							
		,, 00						•	T.
				NOT	ICE .				
	A SIGN	ED BID	MUST	BE S	UBMITTED	TO:			
	P B 2	URCHAS UILDIN	ING D G 15 SHING	IVISI TON S	INISTRATI ON TREET, EA 5305-0130	ST	: .		
	THE EN	IVELOPE	i l	l	THIS INF D MAY NOT		į.	FACE OF	
	SEALED	RID						-	
	BUYER:		-		SHERI	SLONE -	FILE 33		
	RFQ. N	10.:			6611C0	17			
	<u> </u>	1	<u> </u>	SEE RE	 VERSE SIDE FOR T	ERMS AND CO	l NDITIONS		<u> </u>
SIGNATURE	tu./	Lan	m			TELEPHONE 502	2-318-66	32 DATE	4/12/11
TITLE DO	ccron	FE	IN	61-	06001				TO BE NOTED ABOVE



**ANDORMA** 

\*917093307

ISCO INDUSTRIES INC

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

502-583-6591

### Request for Quotation

6611C017

ADDRESS CORRESPONDENCE TO A	TTENTION OF
	***

BUYER 33

304-558-2402

DIVISION OF HIGHWAYS

SHIP PTO PO BOX 4545 VARIOUS LOCALES AS INDICATED BY ORDER LOUISVILLE KY 40204

DATE PRIN	<u>wasangani di 100000</u>	TER	RMS OF SAL	E	SHIPA	ſΙΑ	F.(	38	FREIGHT TERMS
03/31/ BID OPENING DATE:		04/14/	2011			DID	OBENING	TTME	. 7004
LINE	QUAN		UOP	CAT NO	ITEM NUM		OPENING	IIME UI Iprice	:30PM
				NO	REWING	MDEN.		DENICE.	AMOUNT
	BID OP	ENING	DATE:		04/14/	2011			
				,					
	BID OP	ENING	TIME:		1:30 P	M	,		
				•			•		
	PLEASE	PROVI	DE A	FAX N	UMBER IN NG YOUR B	CASE IT	IS NECE	SSARY	
	. Con	1701 1	OU KE	DAKDI	502-568	-			
					702-760	: 1032			
	CONTAC	T PFRS	ON (P	IFASE	PRINT CL	EADI VI.	1		
		. ,			Steve F				
					JIEVE!		-/		
						•			
*					·				
	****	THIS	IS T	HE EN	D OF RFQ	6611C	017 ***	• • • • • • • • • • • • • • • • • • •	2804,900
								i i i i i i i i i i i i i i i i i i i	for 10 districts based on estimated of ys.
									for to districts
									based on
									estimated grys.
					·				/
		•			-				
						•			
				vI		:	-		
		-							·
				ಿಕ್ಕರಣಗಳ	JEDOE OVER FAR T	TOMO AND 200	(N)Proble		
SIGNATURE		<i></i>	<i></i>	OCC HE	VERSE SIDE FOR TI	TELEPHONE	z -3/8-6	// 2.2 DATE	4610 600
TITLE N	<u> </u>	FE	Jay	<u>, , , , , , , , , , , , , , , , , , , </u>					4/12/11
Direc	toy		6	1-6	160015	7	ADD	HESS CHANGES	TO BE NOTED ABOVE

#### 1. SPECIFICATIONS

The following sections of the West Virginia Department of Transportation, Division of Highways Standard Specifications Roads and Bridges, adopted 2010 as modified by the January 1, 2011 Supplemental Specifications shall apply to the administration of this contract: Sections 101, 102.4, 102.5, 105.1, 105.3, 105.4, 105.10, 105.11, 105.12, 105.13, 106.3, 106.4, 106.5, 106.7, 106.9, 107.1, 107.2, 107.3, 107.7, 107.14, 107.19, 107.20, 108.5, 108.8, 109.1, 109.2 and 109.20.

The terms "Contractor" and "Vendor" used in the above specifications of this contract are interchangeable. Contractor shall mean Vendor and Vendor shall mean Contractor.

West Virginia Department of Transportation, Division of Highways' Standard Specifications Roads and Bridges, adopted 2010 as modified by the January 1, 2011 Supplemental Specifications may be obtained from:

West Virginia Division of Highways Contract Administration Building 5, Room 722 1900 Kanawha Blvd., East Charleston, West Virginia 25305 Phone: 304-558-2885

http://www.transportation.wv.gov/highways/contractadmin/specifications/2010StandSpec/Pages/default.aspx

#### 2. SCOPE OF WORK

The Division of Highways is issuing this Request for Quotation requesting bidders to furnish all labor, material and equipment to install grout in the annular space between the liner and existing pipe complete, in place as specified herein, to be performed on various Division of Highways roadways in all 55 counties. Actual locations will be specified in an Agency Release, which will be issued by the Division of Highways at the time service is required.

### 3. BIDDING INSTRUCTIONS

Bidders submitting bids for a specific district shall bid all counties in that district.

Any qualification of bids or any modification of the specifications or conditions governing the bids may be cause for their rejection.

### 4. DESCRIPTION

The grout produced for this contract shall consist of Portland cement, meeting the requirements of ASTM-C150, a foaming agent, meeting the requirements of ASTM-C869 and water and have a density of between 40 and 50 lbs/cf.

Work shall consist of installing cellular concrete into the annular space between the existing pipe and the new plastic pipe (installed by others). The Division of Highways will be responsible for providing any needed traffic control, constructing bulkheads, vent tubes, grout tubes and blocking if needed.

#### 5. CONTRACTOR RESPONSIBILITY

Contractor shall employ and assign to the project site at least two technicians per job that have had previous experience installing cellular concrete in the pressure grouting of slip liner pipe. This experience shall consist of the successful completion of three projects of similar ground and project conditions. The contractor shall supply the name/type of the three projects and any credentials to support the technicians' experience to the District Engineer within thirty (30) days of receiving a signed Agency Release.

Contractor shall provide a concrete pump that can be regulated to provide a delivery pressure of no greater than 2 psi and a Viper turbo air foam generator or equal.

Contractor shall ensure that all voids are filled by pumping grout from downstream of culvert and continue pumping until grout is expelled from the highest vent tube on the inlet end.

Contractor shall take appropriate precautions to avoid over pressurization, buckling and floating of the slip liner pipe during the grouting process. Pressure on the annular void shall not exceed 2 psi to avoid damage to the liner pipe. Regardless of the pressure, the Contractor shall be solely responsible for any damage or distortion of the liner pipe due to the grouting process.

The Contractor shall comply with the pipe manufacturer's recommendations for grouting procedures. Multiple grout lifts may be required to avoid buckling the liner pipe.

The Contractor shall take all necessary precautions to protect and preserve the interior of the pipe from damage. Spills shall be minimized and cleaned up immediately. Any damage to the pipe caused by or occurring during the grouting operation shall be repaired by a method approved by the engineer at no additional cost to the Division of Highways.

The Contractor shall commence work within thirty (30) days of receiving a signed Agency Release.

### 6. METHOD OF MEASUREMENT

Unit price shall be per linear foot of installed culvert lines.

### 7. CONTRACT AWARD

Qualified Vendors who submit a valid bid for "FOB Site" will be awarded a contract for those Districts for which their bid is low. Vendors are cautioned that the quantities listed on the Bid Schedule are estimates only. Actual orders will be placed for the required needs of the Division of Highways.

In the event a Vendor fails to conform to the requirements set out in this contract document, the Agency Release or the governing specifications, the Purchase Order Contract may be canceled and re-awarded to the next low bidder.

### 8. <u>DELIVERY</u>

An Agency Release for delivery to various Division of Highways roadways will be issued to the Vendor awarded a

contract for the county locations (see Bid Schedule). Original delivery tickets for each delivered load to the District sites must be signed and retained by a Division of Highways employee at the delivery location.

In the event that the Vendor, to which the Agency Release is issued, is unable to comply with the specified delivery schedule, the Division, at its option, may cancel all or part of the Agency Release and obtain the required quantity from the most economical available source.

#### 9. SUPPLYING OTHER ORGANIZATIONAL ENTITIES

In accordance with Chapter 5A, Article 3, Section 9 of the Code of West Virginia the commodities or services contracted for herein shall be available to all local governmental bodies in accordance with the same prices, terms and conditions afforded to the State of West Virginia.

In the event any Vendor does not wish to extend the above prices, terms and conditions of his bid and subsequent contract to all political sub-divisions of the State, he must so indicate in a clear and unambiguous manner in his bid. This indication does not prejudice the award of the contract. If a Vendor does not indicate his refusal to extend the prices, terms and conditions of his bid to other entities of the State he is bound to extend them upon issuance of a purchase order by these entities.

Other organizational entities using this provision of the contract shall do so without any involvement of the Division of Highways. That is, the entity shall make its own purchase arrangements with the Vendor and shall make its own arrangements for payment.

### VENDOR'S INVOICES

Vendor's invoices must be submitted in original plus one copy and contain the following:

- a) The bid sheet item number and item description delivered during the invoicing period.
- b) Total quantity and unit price with the total cost of each item.
- c) Agency Release Number and this Contract Number.

NOTE: Under no circumstance will the Division of Highways accept, or pay for, quantities of materials in excess of the quantity stated on the Agency Release.

### 11. Bid Schedule -- District 1 (Boone County, Clay County, Kanawha County, Mason County and Putnam County)

Delivery: F.O.B District's Site

Item	Item Description	Estimated Quantity in Linear Feet	Unit Price Per Linear Foot	Amount
1	Grout 10.75" - 18" Pipe Liner for corresponding 12" - 21" ID pipe	500	72,77	*36,385
2	Grout 18" - 22" Pipe Liner for corresponding 24" ID pipe	500	13.64	*36,820
3	Grout 22" - 28" Pipe Liner for corresponding 27" - 34" ID pipe	500	78,21	*39,105
4	Grout 28" - 36" Pipe Liner for corresponding 36" - 42" ID pipe	500	78.84	39,420
5	Grout 36" - 42" Pipe Liner for corresponding 48" ID pipe	500	94.59	547,290
6	Grout 42" - 48" Pipe Liner for corresponding 54" ID pipe	250	95,29	\$23,820
7	Grout 48" - 54" Pipe Liner for corresponding 60" ID pipe	100	109.16	10,915
8	Grout 54" Pipe Liner for corresponding 66" ID pipe	100	130.37	5/3,037
9	Grout 63" Pipe Liner for corresponding 66" - 72" ID pipe	100	142.07	\$14,207
10	Grout 63" Pipe Liner for corresponding 84" ID pipe	100	194.91	\$19,491

# 11. Bid Schedule -- District 2 (Cabell County, Lincoln County, Logan County, Mingo County and Wayne County)

Delivery: F.O.B District's Site

Item	Item Description	Estimated Quantity in Linear Feet	Unit Price Per Linear Foot	Amount
1	Grout 10.75" - 18" Pipe Liner for corresponding 12" - 21" ID pipe	500	72.77	36,385
2	Grout 18" - 22" Pipe Liner for corresponding 24" ID pipe	500	73-64	36,820
3	Grout 22" - 28" Pipe Liner for corresponding 27" - 34" ID pipe	500	78.21	39,105
4	Grout 28" - 36" Pipe Liner for corresponding 36" - 42" ID pipe	500	78.84	39,420
5	Grout 36" - 42" Pipe Liner for corresponding 48" ID pipe	500	94.59	47,290
6	Grout 42" - 48" Pipe Liner for corresponding 54" ID pipe	250	95.29	23,820
7	Grout 48" - 54" Pipe Liner for corresponding 60" ID pipe	100	109.16	10,915
8	Grout 54" Pipe Liner for corresponding 66" ID pipe	100	130.37	13,037
9	Grout 63" Pipe Liner for corresponding 66" - 72" ID pipe	100	142.07	14,207
10	Grout 63" Pipe Liner for corresponding 84" ID pipe	100	194.91	19,491

### 11. Bid Schedule -- District 3 (Calhoun County, Jackson County, Pleasants County, Ritchie County, Roane County, Wirt County and Wood County)

Delivery: F.O.B District's Site

Item	Item Description	Estimated Quantity in Linear Feet	Unit Price Per Linear Foot	Amount
1	Grout 10.75" - 18" Pipe Liner for corresponding 12" - 21" ID pipe	500	72.77	36,385
2	Grout 18" - 22" Pipe Liner for corresponding 24" ID pipe	500	73.64	36,820
3	Grout 22" - 28" Pipe Liner for corresponding 27" - 34" ID pipe	500	78.21	39,105
4	Grout 28" - 36" Pipe Liner for corresponding 36" - 42" ID pipe	500	18.84	39,420
- 5	Grout 36" - 42" Pipe Liner for corresponding 48" ID pipe	500	94.59	47,290
6	Grout 42" - 48" Pipe Liner for corresponding 54" ID pipe	250	95.29	23,820
7	Grout 48" - 54" Pipe Liner for corresponding 60" ID pipe	100	109.16	10,915
8	Grout 54" Pipe Liner for corresponding 66" ID pipe	100	130.37	13,037
9	Grout 63" Pipe Liner for corresponding 66" - 72" ID pipe	100	142.07	14,207
10	Grout 63" Pipe Liner for corresponding 84" ID pipe	100	194.91	19,491

# 11. Bid Schedule -- District 4 (Doddridge County, Harrison County, Marion County, Monongalia County, Preston County and Taylor County)

Delivery: F.O.B District's Site

Item	Item Description	Estimated Quantity in Linear Feet	Unit Price Per Linear Foot	Amount
1	Grout 10.75" - 18" Pipe Liner for corresponding 12" - 21" ID pipe	500	72.77	36,385
2	Grout 18" - 22" Pipe Liner for corresponding 24" ID pipe	500	73.64	36,820
3	Grout 22" - 28" Pipe Liner for corresponding 27" - 34" ID pipe	500	78.21	39,105
4	Grout 28" - 36" Pipe Liner for corresponding 36" - 42" ID pipe	500	78.84	39,420
5	Grout 36" - 42" Pipe Liner for corresponding 48" ID pipe	500	94.59	47,290
6	Grout 42" - 48" Pipe Liner for corresponding 54" ID pipe	250	95.29	23,820
7	Grout 48" - 54" Pipe Liner for corresponding 60" ID pipe	100	109.16	10,915.
8	Grout 54" Pipe Liner for corresponding 66" ID pipe	100	130,37	13,037
9	Grout 63" Pipe Liner for corresponding 66" - 72" ID pipe	100	142.07	14,209
10	Grout 63" Pipe Liner for corresponding 84" ID pipe	100	194.91	19,491

## 11. Bid Schedule -- District 5 (Berkeley County, Grant County, Hampshire County, Hardy County, Jefferson County, Mineral County and Morgan County)

Delivery: F.O.B District's Site

Item	Item Description	Estimated Quantity in Linear Feet	Unit Price Per Linear Foot	Amount
1	Grout 10.75" - 18" Pipe Liner for corresponding 12" - 21" ID pipe	500	72.77	36,385
2	Grout 18" - 22" Pipe Liner for corresponding 24" ID pipe	500	73.64	36,820
3	Grout 22" - 28" Pipe Liner for corresponding 27" - 34" ID pipe	500	78.21	39,105
4	Grout 28" - 36" Pipe Liner for corresponding 36" - 42" ID pipe	500	78.84	39,420
5	Grout 36" - 42" Pipe Liner for corresponding 48" ID pipe	500	94.59	47,290
6	Grout 42" - 48" Pipe Liner for corresponding 54" ID pipe	250	95.29	23,820
7	Grout 48" - 54" Pipe Liner for corresponding 60" ID pipe	100	109.16	10,915
8	Grout 54" Pipe Liner for corresponding 66" ID pipe	100	130.37	13,037
9	Grout 63" Pipe Liner for corresponding 66" - 72" ID pipe	100	142.07	14,207
10	Grout 63" Pipe Liner for corresponding 84" ID pipe	100	194.91	19,491

# 11. Bid Schedule -- District 6 (Brooke County, Hancock County, Marshall County, Ohio County, Tyler County and Wetzel County)

Delivery: F.O.B District's Site

Item	Item Description	Estimated Quantity in Linear Feet	Unit Price Per Linear Foot	Amount
1	Grout 10.75" - 18" Pipe Liner for corresponding 12" - 21" ID pipe	500	72.77	36, 385
2	Grout 18" - 22" Pipe Liner for corresponding 24" ID pipe	500	73.64	36,820
3	Grout 22" - 28" Pipe Liner for corresponding 27" - 34" ID pipe	500	78.21	39,105
4	Grout 28" - 36" Pipe Liner for corresponding 36" - 42" ID pipe	500	78.84	39,420
5	Grout 36" - 42" Pipe Liner for corresponding 48" ID pipe	500	94,59	47,290
6	Grout 42" - 48" Pipe Liner for corresponding 54" ID pipe	250	95,29	23,820
7	Grout 48" - 54" Pipe Liner for corresponding 60" ID pipe	100	109.16	10,915;
8	Grout 54" Pipe Liner for corresponding 66" ID pipe	100	130.37	13,037
9	Grout 63" Pipe Liner for corresponding 66" - 72" ID pipe	100	142.07	14,207
10	Grout 63" Pipe Liner for corresponding 84" ID pipe	100	194.91	19,491

## 11. Bid Schedule -- District 7 (Barbour County, Braxton County, Gilmer County, Lewis County, Upshur County and Webster County)

Delivery: F.O.B District's Site

Item	Item Description	Estimated Quantity in Linear Feet	Unit Price Per Linear Foot	Amount
1	Grout 10.75" - 18" Pipe Liner for corresponding 12" - 21" ID pipe	500	72.77	36,385
2	Grout 18" - 22" Pipe Liner for corresponding 24" ID pipe	500	73.64	36,820
3	Grout 22" - 28" Pipe Liner for corresponding 27" - 34" ID pipe	500	78,21	39,105
4	Grout 28" - 36" Pipe Liner for corresponding 36" - 42" ID pipe	500	78.84	39,420
5	Grout 36" - 42" Pipe Liner for corresponding 48" ID pipe	500	94,59	47,290
6	Grout 42" - 48" Pipe Liner for corresponding 54" ID pipe	250	95.29	23,820
7	Grout 48" - 54" Pipe Liner for corresponding 60" ID pipe	100	109.16	10,915
8	Grout 54" Pipe Liner for corresponding 66" ID pipe	100	130.37	13,037
9	Grout 63" Pipe Liner for corresponding 66" - 72" ID pipe	100	142.07	14,207
10	Grout 63" Pipe Liner for corresponding 84" ID pipe	100	194.91	19,491

## 11. Bid Schedule -- District 8 (Pendleton County, Pocahontas County, Randolph County and Tucker County)

Delivery: F.O.B District's Site

Item	Item Description	Estimated Quantity in Linear Feet	Unit Price Per Linear Foot	Amount
1	Grout 10.75" - 18" Pipe Liner for corresponding 12" - 21" ID pipe	500	72.77	36,385
2	Grout 18" - 22" Pipe Liner for corresponding 24" ID pipe	500	73.64	36,820
3	Grout 22" - 28" Pipe Liner for corresponding 27" - 34" ID pipe	500	78.21	39,105
4	Grout 28" - 36" Pipe Liner for corresponding 36" - 42" ID pipe	500	78,84	39,420
5	Grout 36" - 42" Pipe Liner for corresponding 48" ID pipe	500	94.59	47,290
6	Grout 42" - 48" Pipe Liner for corresponding 54" ID pipe	250	95,29	23,820
7	Grout 48" - 54" Pipe Liner for corresponding 60" ID pipe	100	109.16	10,915
8	Grout 54" Pipe Liner for corresponding 66" ID pipe	100	130.37	13,037
9	Grout 63" Pipe Liner for corresponding 66" - 72" ID pipe	100	142.07	14,207
10	Grout 63" Pipe Liner for corresponding 84" ID pipe	100	194,91	19,491

## 11. Bid Schedule -- District 9 (Fayette County, Greenbrier County, Monroe County, Nicholas County and Summers County)

Delivery: F.O.B District's Site

Item	Item Description	Estimated Quantity in Linear Feet	Unit Price Per Linear Foot	Amount
1	Grout 10.75" - 18" Pipe Liner for corresponding 12" - 21" ID pipe	500	72,77	36,385
2	Grout 18" - 22" Pipe Liner for corresponding 24" ID pipe	500	73.64	36,820
3	Grout 22" - 28" Pipe Liner for corresponding 27" - 34" ID pipe	500	78,21	39,105
4	Grout 28" - 36" Pipe Liner for corresponding 36" - 42" ID pipe	500	78.84	39,420
5	Grout 36" - 42" Pipe Liner for corresponding 48" ID pipe	500	94.59	47,290
6	Grout 42" - 48" Pipe Liner for corresponding 54" ID pipe	250	95.29	23,820
7	Grout 48" - 54" Pipe Liner for corresponding 60" ID pipe	100	109.16	10,915
8	Grout 54" Pipe Liner for corresponding 66" ID pipe	100	130,37	13,037
9	Grout 63" Pipe Liner for corresponding 66" - 72" ID pipe	100	142.07	14,207
10	Grout 63" Pipe Liner for corresponding 84" ID pipe	100	194.91	19,491

#### Bid Schedule -- District 10 11. (McDowell County, Mercer County, Raleigh **County and Wyoming County)**

Delivery: F.O.B District's Site

Item	Item Description	Estimated Quantity in Linear Feet	Unit Price Per Linear Foot	Amount
1	Grout 10.75" - 18" Pipe Liner for corresponding 12" - 21" ID pipe	500	72.77	36,385
2	Grout 18" - 22" Pipe Liner for corresponding 24" ID pipe	500	73.64	36,820
3	Grout 22" - 28" Pipe Liner for corresponding 27" - 34" ID pipe	500	78.21	39,105
4	Grout 28" - 36" Pipe Liner for corresponding 36" - 42" ID pipe	500	78.84	39,420
5	Grout 36" - 42" Pipe Liner for corresponding 48" ID pipe	500	94.59	47,290
6	Grout 42" - 48" Pipe Liner for corresponding 54" ID pipe	250	95,29	23,820
7	Grout 48" - 54" Pipe Liner for corresponding 60" ID pipe	100	109.16	10,915
8	Grout 54" Pipe Liner for corresponding 66" ID pipe	100	130.37	13,037
9	Grout 63" Pipe Liner for corresponding 66" - 72" ID pipe	100	142.07	14,207
10	Grout 63" Pipe Liner for corresponding 84" ID pipe	100	194.91	19,491

TOTAL

\$ 280,490 \$ 2804,900

GRAND TOTAL

### State of West Virginia

### Vendor preference certificate

Certification and application\* is hereby made for Preference in accordance with **West Virginia Code**, §5A-3-37. (Does not apply to construction contracts). **West Virginia Code**, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the **West Virginia Code**. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

will make the determination of the Resident Vendor Preference, if approaches
Application is made for 2.5% resident vendor preference for the reason checked:  Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preceding the date of this certification; or,  Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or,  Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or,
Application is made for 2.5% resident vendor preference for the reason checked:  Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
Application is made for 2.5% resident vendor preference for the reason checked:  Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
Application is made for 5% resident vendor preference for the reason checked:  Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
Application is made for 3.5% resident vendor preference who is a veteran for the reason checked:  Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted: or.
Application is made for 3.5% resident vendor preference who is a veteran for the reason checked:  Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
er understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the rements for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penal list such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agence that the such penalty will be paid to the contracting agence that the such penalty will be paid to the contract or purchase order.
ubmission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and orizes the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has particle the Department of Revenue to disclose to the Director of Purchasing appropriate information and the Purchasing appropriate information does not contain the amounts of taxes paid nor any other information does not contain the amounts of taxes paid nor any other information does not contain the Amounts of taxes paid nor any other information does not contain the amounts of taxes paid nor any other information.
er penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certifica accurate in all respects; and that if a contract is issued to Bidder and if anything contained within this certifica nges during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.
ler: Signed:
er:



### State of West Virginia DRUG FREE WORKPLACE CONFORMANCE AFFIDAVIT West Virginia Code §21-1D-5

STATE OF West Virginia
COUNTY OF Berkeley, TO-WIT:
I, Steve Rancey, after being first duly sworn, depose and state as follows:  1. I am an employee of ISCO Industries, LLC, and, (Company Name)  2. I do hereby attest that ISCO Industries, LLC (Company Name)
maintains a valid written drug free workplace policy and that such policy is in compliance with <b>West Virginia Code</b> §21-1D-5.
The above statements are sworn to under the penalty of perjury.  250 Industries, LLC,  (Company Name)  By: Ster, Ramsuy  Title: Director of Customer Care  Date: 4/12/11
Taken, subscribed and sworn to before me this 12 day of 1911
By Commission expires 12/10/11
(Seal) (Notary Public)

THIS AFFIDAVIT MUST BE SUBMITTED WITH THE BID IN ORDER TO COMPLY WITH WV CODE PROVISIONS. FAILURE TO INCLUDE THE AFFIDAVIT WITH THE BID SHALL RESULT IN DISQUALIFICATION OF THE BID.

RFQ No. 66110017

#### STATE OF WEST VIRGINIA Purchasing Division

### **PURCHASING AFFIDAVIT**

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

#### **DEFINITIONS:**

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

**EXCEPTION:** The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

WITNESS THE FOLLOWING SIGNATURE
Vendor's Name: ISCO Industries, LLC,
Authorized Signature: Star flam suy Date: 4/12/11
State of Kentulul
County of Jeferson, to-wit:
Taken, subscribed, and sworn to before me this 12 day of April
My Commission expires
NOTARY PURPLIC DIVINING MALLS
AFFIX SEAL HERE NOTARY PUBLIC WOOD WAS